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(Sales-Oriented/Customer-Oriented Behaviors)
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Construct (Researchers)

Measurement Items

Individual Sales Capability
(Spencer & Spencer, 1993)

Expertise

Overall knowledge related to sales.

Expert knowledge about cosmetics.

Relationship Building

Maintaining close relationships with business-related people.
Forming and utilize human networks.

Analytic Thinking

Active interest in the customer’s needs

Capability to accurately ask and answer customers.

Learning

Regular feedback from customers, colleagues, and managers
Continuing learning about work results to compensate for
deficiency.

Problem Solving

Discovering customer’s hidden needs and satisfied.
Customer follow-up management.

Organizational Recognization

Grasping the strategy and direction of the sales organization.
Understanding the financial principles of the sales organization
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T= He HME &2 He HME

30AM| O|Ak~39A| O[5} 13 6.0 PN R 71 325

N O™ &/t =
AAALY 40M| O| & ~49M| O[St 50 228 7o Hess 123 56.2
ag 504 O[Ak~594) O[St 119 543 RSV 25 114
Al o]} It
60A| O] &t 37 169 Sttt 7| &/A=0[0|X| 61 278
14 O|Af~3 0ot 15 6.8 7| M El 7|ge| oA E s 34 155
209l

1 01 A} 34 0| ¢~5 0|2t 42 192 AQlFH 124 56.6

Ead b 513 0|Ab~74d 0|t 9?2 420 14 oy 13 59

74 O 4 70 32.1 1 O|ab~2H O|2t 19 87

ZFL|O{/A L]0 97 429 2| O|Ab~3t4 D|TF 21 96

e OfAE 92 420 i n| Yol 3 O|Ak~4H OJ2F 20 9.1

el 7|zt

40t H 33 15.1 (@Z4o| 7|2l 4'H 0|4 ~51H O|2k 9 4.1

1ZE ofst 71 324 5 O|ak~plH O|2F 14 6.4

oty ZOUE/HE 61 27.8 6 O|Af~74 O|2t 19 87

CHetRIZE 87 39.7 74 O A 104 475




measurement item st. estimate S.E. C.R. AVE CR Cronbach's a
HEY 0.547
A 0.850 0.172 7.531
=AM ALD 0.811 0.213 6.372 0.660 0919 0.899
stE 0.928 0.243 6.571 ' ‘ '
nELpNE; 0.843 0.204 6.171
ZE Q1A 0.841 0.229 6.585
HEdYEH 0.862
HEd9an 0.874 0.083 12.339 0.753 0859 0859
A A 2 0.717
HAY LG 0.705 0.104 9.210 0-506 0672 0653
=AHAI DA EH 0.797
EMMALD AR 0.879 0.096 11.954 0.704 0826 0823
sh& 92 0.742
St~ ot ot 0.529 0.692 0.692
ShE A2 0.713 0.097 9.536
LANSAEN 0.703 0.566 0.722 0.718
DX AR 0.798 0.119 10.093 ' ‘ '
ERAAAEN ! 0815 0.629 0.772 0.771
22| 01A A g 0.770 0.081 11.543 ' ' '

Model fit: x2=757.692, d.f.=357, RMR=0.030, RMSEA=0.072, GFI=0.817, NFI=0.843,IFI=0.910, TLI=0.897, CFI=0.909



- B0 Ok 2eld Q=4 (2)
measurement item construct st. estimate S.E. C.R. AVE CR Cronbach's a
DMK BEET7 0.790
LN 0.844 0.066 15.213
LN 2SI 0.842 0.072 13.784
DX g4 jﬁﬁf’f 0.827 0.075 11.911 0.644 0.926 0.925
NHX|ekE3 T 0.827 0.079 13.477
LN o 0.769 0.074 12.220
LS 0.708 0.074 11.067
THOf X2k 1 0.824
O X| 22 0.880 0.064 16.033
HHofX|gkd3 oY K| A 0.859 0.057 15.596
THOY X[ SkAd4 B 0.861 0.061 15.669 0.7 0337 0337
EHoj Rl gds 0.846 0.065 14.932
T X 26 0.798 0.071 13.821
™YL 0.796
ddLE2 0.791 0.077 12.022
L= 0.611 0.863 0.863
dELE3 0.802 0.084 12.189
BEEE4 0.737 0.080 11.096

Model fit: x2=757.692, d.f.=357, RMR=0.030, RMSEA=0.072, GFI=0.817, NFI=0.843,IFI=0.910, TLI=0.897, CFI=0.909



- AHEA B AL
He Ha HEHEHA (1) (2) 3) 4) (5)
o of 2
(1) 3.6221 48052 1
T ZH K| Sk
_'(Zl)o e 3.6967 .60157 .697** 1
Tiof K| kA
= H(3|)° e 3.6461 .64586 .539** .366** 1
Do A 7
= (H4;’J'r 15.1314 .62355 A25%* 337** .328** 1
Z4X4 7}
e °5§’E 3.7854 .55369 A402** A80** JA51* .106 1
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0.071, GFI=0.840, NFI=0.859,IFI=0.920, TLI=0.907, CFl=

596.01, d.f.=282, RMR=0.032, RMSEA=

Model fit: x2
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st. estimate X2(df)
7t4 s = Ax2( Result
ddZE ddZE unconstraint constraint
low high model model
DX A ol s — Thof- ot 0.237** 0.179** 1185.867s65) 10.799 Supported
7445 1175.062 564
EOfR|eS EHOlYS — EHof-d ot 0.232%* 0.215** 1175.206s65) 0.144 Not Supported
- (71/25) FYArE i1 LAR|F, IL._*_E'Hxlg':’i*. HSO| O garof| O]=|= FZFol| CHsH
ZUZES ZYHY YIS 0/F Ho|Ck
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